Monday 8th February
Introduction – fractions of shapes
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What did we notice ahout this numhber Aine
Aast week?
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Wh.at /j'/ra,c/t/t/cr/n/s did we count Amn?




image2.png
Last week we Aooked at /j“/t/n,d/t/n,q anit and non-unit

/‘f/r,a,c/t/l,om/s ,04[ amounis.
T = 4%= 3
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AANAd e /b/l& Ahe hottom (demnominatonr)
/m/u./l/t/i/p/l/té /b./t& Ahe /t,o/p (numerator)




image3.png
This /O/n/{/té has Awo

Shade | .
—_— /pﬂ/r/t/s A0 AAA eqsn Ao
2 shade omne ouit ,o/f Awo.
i This /S/h/{l/pz /cr/n/{/ts has 3
3 /p,a/r/t/s AO ,c,o/{/o/u/r/i/nq 2

onud /o/f 3 is RASN.
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What /i/j“ O /s/h/o./pz has more /PAI/!‘/t/S Ahan the denominator

8+1= i

/suzqqz/si/s?

Shade  —
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We can see Ahat Ahe /s/h,o./pz has 8 /p,o./r/t/s.

We meed Ao {Axmd l— of 8.
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What abhout Ahis ome?

There are 6 /p/a/r/t/s

Shad | /a/{/t/o,q,e/t/h,e/r.
ade __

We need Ao {A/n,d |_
of them. :
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So how would we shode 5 of this shape?
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There are 6 /p,Q/r/t/s. How do we {Am,d

% of Ahem?




